
6000�10000+productlogH-6000*3�10000*e^H-6000*3�10000LL�3

Input:

6000

10 000
+

1

3
W -

6000 ´ 3 ã
-

6000 ´ 3

10 000

10 000

Exact result:

1

3
W -

9

5 ã9�5
+

3

5

Decimal approximation:

0.439457979982059808285759196473256620107656820415391484…

Alternate form:

1

15
5 W -

9

5 ã9�5
+ 9

Alternate form assuming all variables are real and positive:
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Wolfram Functions: alternative representation:
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Wolfram Functions: integral representation:
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 6000/10000+productlog(- 6000*3/10000*e^(- 6000*3/10000))/3
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